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1.

2.

3.

Hamoure HOPpOM3BOOHYID OYHKLMM:

a)y = —5x%;

6 y = 2 31, .
)y =—gxz+ox’ -
B)y = —éx(’o — 59cos (x);

r)y = 3e* +0.3x —/3;

ny=—e* = 7tg(x);
e)y =Inx +2015x + 1;

&) y = 5x28 + sin (x);

x)y = mx” —v2x% + 101x;
3)y =In (x + 13);

2 1 3
n)y= —§x3 +Ex5 —;x“;
i) y = sin (x) + cos (x);
K)y = In(x — 2) — e*2;

Briumcimre :

a) y'(=1), 20ey = 13x — x'3;

6)y' (1), y=0,2x75;

B)y' (1), y =x"*—12;
Ny2), y=2x%-2x;
my'(=2), y=-2x%
e)y'(1), y = 12x3 + 15x;
&) y'(m), y = x% + sin (x);
x) y'(0), y = 13sin (x);
3)y'(-m), y =tg (x);
my'(-1), y=—zx'5
y'@), y=x+1/x;

) y'(0),y = —sin(x) — x;

Hanmgure:

m) f = (1.5 + 2015x)?;
m) f = (1+10%

0 f=(- 5x)6;

b) f = — =sin(172);
b) f = cos (2x — 3);

3) f = —cos (x% — 1);

10)f = sin (Vx + 1);
1) f = In(0.9x).

1) g = x%sin(x);

M) g = xctg(x);

H) g = (x +1)(x — x?);
0)g = (2 + x)Inx;

m) g = xcos(x);

p) g = (x + 2015)e*;
c)g = x?Inx;

1) g = sin(x) In (x + 1);
y) g =x/(1+x);

) g =x*/(1—x);

x)g = (x+2)/x;
1) g = (x% — 1)/x;

m g'(0), g = x*cos(x);

M) g'(0), g = xtg(x);

H) g'(1), g = (2x + D(1 - x?);
0)g'(=2),9 = 2 +x)x%

m g'(%),g = cos® (x);
p)g'(1), g = (x—1e*;

©) g'(1), g = x*nx;

T) g'(g),g = sin(x) cos (x);

y) 9'(0),g =x/(1+e*).

a) Touxky MakcumyMa, rmey = logz(x® —5x% +3) + 3;

0) TOUKY MMHMMYyMa, Irgey

2
— 2Xx°+2x-3.
=3 ;

B) TOuKy MakcumyMa, rmey = logg(—40 — 14x — x?) + 3;

') TOUKY MMHMMyMa,Iﬂe)/==2015xlmx+%

o) TOUKy MuHMMyMa, rgey = Vx2 + 5x — 6;

e) Touky MuHMMyMa, rgey = (2x —13)e(1372%);

&) Touky MuHmMMyMa, rgey = (2015 — x)e(015-%);

X) HauMeHbllee 3HaueHMe OyHKIMMY = x5 —27x% +19 nHa orpeske [9;27];

3) HaMMeHbllee 3HadYeHMe OYHKUMMY = X + % Ha oTpeske [1;9];

1) HauGoJibllee 3HaueHue OGyHxuuuy = x> —18x2 +81x+5 Ha orpeske [0.5;7];

1) HauMeHbllee 3HauveHue oyHxuumy = 10x —In (x+ 8)® mHa orpesxe [-7.5;0];

K) HamBoJbllee 3HaueHMe QyHKUMM y = x5 —3x? +4 na orpesxe [—2;0];
x2+25

JI) HaVMeHblIee 3HaueHMe QYHKUUUY = Ha orpeske [1;10];

M) HauMeHblIee

H) HalMeHbllee

3HaUeHue

3HaUeHue

byuxummy = 16sinx — 19x + 22 na orTpeske [—3?”; 0];

byuxumny = 2tgx —4x +m—3 Ha oTpeske —%;%].



